
 

4th Grade Math                 

Parent Information 
Packet #3 

 Recommended daily math practice time:  20 minutes 

 There are 4 “Unit Assessments” to review key concepts from this year.  Answer keys 

are at the end of the document.  The recommendation is to work through all of 

these over the course of 2 weeks, at a comfortable pace for your student. 

 There are 15 “fluency practice” pages – addition, subtraction, multiplication, and 

division as well as fractions.  Recommendation is to work 5-10 minutes each day 

from pages of your student’s choice.  However, the goal is practice and remembering 

how to work problems correctly.  Adjust the number of problems based on how long 

it takes your student to complete.  There are more than 2 weeks’ worth of fluency 

practice to allow for choice and additional practice in the summer if desired.  These 

can all be checked with a calculator.  Students are encouraged to correct any 

problems missed. 

 There are 6 “Activity” pages – Recommendation is 2-3 “Activities” per week for 10 

minutes each activity.  These activities can be repeated for extra practice.  Answer 

keys are at the end of the document. 

Additional Ideas that can be practiced daily or every other day: 

 Read and write numbers less than or equal to 1,000,000 using standard form, word form, 

and expanded form. 

o Example:  four thousand two hundred fifty six = 4,256 = 4 x 1000 + 2 x 100 + 5 x 10   

+ 6 x 1 

 Add and subtract within 1,000,000 – Have your child create numbers to add or subtract.  

Use a calculator to check. 

 Multiply up to four digits by one digit numbers. Use a calculator to check. 

 Multiply two two-digit numbers.  Use a calculator to check. 

 Continue practicing multiplication and division facts up to 12x12 (or higher if desired).  

Your child could create their own flash cards with a fact and a picture/array to illustrate.  

Another option is to write the fact families for the facts.  Example:  5 x 2 = 10; 2 x 5 = 10;  

10 ÷ 2 = 5; 10 ÷ 5 = 2. 



 

 



 



 



 



 



 



 

 



 



 



 



 



 



 



 



 



 



 



 



 



 



 

 

 



 



 

 



 



 



 



 



 



 



 



 



 



 



 

 



 



 



 



 

 



 

 



 



 



 



 



 



 



 



 



 



 



 

Unit 1 Assessment Answer Key 
1.  B, D, E 
2.  9805<12053 or 12053>9805; More vehicles 
passed the store on weekends. 
3.  a. no; b. yes; c. no; d. yes 
4.  a. false; b. true; c. true; d. false 
5.  Part A:  128,205;  Part B: Raul is not correct. 
452,801+324,596=777,397.  Possible explanation: 
Raul forgot to regroup 10 hundreds as 1 
thousand. 
6.  D 
7.  Taxi A; 4  0  5  0  2 
Taxi B:  4  3  0  5  2 
Taxi C:  3  4  5  2  0 
Taxi C has gone the least number of miles. 
Possible explanation: Compare starting with the 
greatest place value.  3 ten thousands < 4 ten 
thousands, so 34,520 < 40,502 and 
34,520<43,052. 
8.  Part A:  21,054; 20,000+1,000+50+4; twenty-
one thousand fifty-four 
Part B:  Possible answers – 2,105 tens, 4 ones; 210 
hundreds, 54 ones 
9.  8.382 
10.  11,847 
11.  Part A: The digit 5 is in the ten thousands 
place so it has a value of 5 thousands or 5,000.  
Part B:  500,000; 50,000; 500; 50; 5 
12.  Part A: To the nearest thousand, 17,542 
rounds up to 18,000.  To the nearest thousand, 
12,385 rounds down to 12,000.  18,000-
12,000=6,000.  So, about 6,000 more birds than 
land animals were counted. 
Part B:  To the nearest hundred, 12,385 rounds up 
to 12,400.  To the nearest hundred, 8,873 rounds 
up to 8,900. 12,400+8,900=21,300.  So, about 
21,300 land animals and water animals were 
counted in all.  
Part C:  Josh is not correct.  Rounding 8,873 to the 
nearest thousand results in 9,000.  Rounding 
8,873 to the nearest hundred results in 8,900 
which is a different value than 9,000. 
 
 
 

Unit 2 Assessment Answer Key 
1.  Part A: check student work; Romulo 
worked 45 hours in all.  Part B: Possible 
explanation:  6+3 is about 10. 10x5=50. 50 is 
close to 45. 
2.  a. yes; b. no; c. yes; d. no 
3.  Yes. Possible explanation – factor pairs of 
49 are 1 and 49, and 7 and 7. So, 1, 7, and 49 
are the three factors of 49. 
4.  B, C, E 
5.  C 
6.  Part A: possible answer – triangle, circle, 
triangle, circle, triangle, circle,… 
Part B: possible answer-the shapes go back 
and forth between triangles and circles. The 
odd numbered spots in the pattern have 
shapes with an odd number of sides.  The 
even numbered spots in the pattern have 
shapes with no sides. 
7.  a. true; b. false; c. false; d. true; e. false 
8.  possible answer-all the numbers in the 
pattern are even numbers. 
9.  Pablo biked 35 miles altogether over the 
two weekends. 
10.  C 
11.  Eliza can include 6 more 3-minute songs 
on her playlist. 
12.  A, C, D 
13.  Part A:  7 vans are needed; Part B:  6 vans 
will carry 9 students each.  The remaining van 
will carry 8 students. 



Unit 3 Assessment Answer Key 
1.  B, C, D, E 
2.  a. true; b. false; c. false; d. true; e. false 
3.  There are 868 trees in all. 
4.  Alex correctly multiplied the ones, tens, 
and thousands values in 2957 by 3.  He did not 
multiply the hundreds value in 2957 by 3.  The 
correct product is 8,871. 
5.  Each musician earned $85. 
6. A 
7.  top left box: 40x50=2000; top right box: 
40x4=160; bottom left box: 3x50=150; bottom 
right box: 3x4=12.  So, 54x43= 
2000+150+160+12= 2322. 
8.  Part A:  There are 418 full crates of 
pumpkins.  Part B:  The remainder is 6.  This 
means that there are 6 pumpkins left over to 
pack in the crate that is not full.  Part C:  There 
are 418 crates with 8 pumpkins each and 1 
crate with 6 pumpkins.  418+1=419. So, 419 
crates are used to pack all 3,350 pumpkins. 

Unit 4 Assessment Answer Key 
1.  a. false; b. true; c. true; d. true 
2.  total milk used: 7/8; milk left:  0 cups 
3.  check model to see if it shows 6 equal parts 
and 4 parts shaded:  4/6 
4.  D 
5.  Tanya’s hair; possible explanation: 
3.08<3.24 because the whole number parts 
are the same and 8 hundredths is less than 24 
hundredths. 
6.  0.57 
7.  47/100 + 40/100 = 87/100 
8.  B, D 
9.  a. 71; b. 39; c. 3 
10.  Part A:  5;  Part B:  2x5/8= 10/8;   
Part C:  No  Possible explanation – Caleb needs 
5 cups of food for 4 days and 5>3, so he does 
not have enough food. 
11.  Part A:  1 4/6 or 1 2/3;  Part B:  8 
12:  check to see if model shows increments of 
tenths (0, 1/10, 2/10, 3/10, …) and the area 
model should be a box with 10 equal parts and 
3 parts shaded in one color and 6 parts shaded 
another color. 
13.  3 3/5 hours 
14.  B, C, D 
15.  Yes; possible explanation – 3/6 means 3 
copies of 1/6, so 5x3/6 means 5x3 or 15 copies 
of 1/6. 
 

Activity 4.21 Answer Key 

 
 
 

Activity 4.12 Answer Key 

 



 

Activity 4.25 Answer Key 

 

Activity 4.27 Answer Key 

 
 

Activity 4.31 Answer Key 

 

Activity 4.35 Answer Key 

 

 


